9.1: Right Triangle Trig Review
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Example 2. Use Trig to find missing sides and angles
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SPECIAL RIGHT TRIANGLES

There are two kinds of right triangles where the side lengths have a special relationship based on the angle

measures of the triangle.

Use Pythagorean Theorem to help you fill out the information in the table below. Then, using the information
in the table, answer the questions that follow.

Side length opposite 45° angle

Side length opposite 45° angle

Hypotenuse Length
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What are the patterns that you notice with a 45°-45°-90° triangle?
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The 45°-45°-90° triangle

Find the missing side indicated:
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What are the patterns that you notice with a 30°-60°-90° triangle?
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The 30°-60°-90° triangle
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